Installation Instructions:

Parallel Fixing

Please install the closer body and parallel arm
bracket according to the template

Dismount the main arm and link arm

Fix link arm, parallel arm bracket and closer
body by M5 screws

Rotate the pinion approximately at 100° by
wrench as illustrated and then assemble the
main arm with pinion by M6 screw tightly

Connect the main arm and link arm as
illustrated

Speed Adjustable

Back check
NO.1 Closing
NO.2 Latching

130°

10701 ZINS-Hxxxx-6S



oo
Installation Instructions:

Parallel Fixing

Please install the closer body and parallel arm
bracket according to the template

Dismount the main arm and link arm

Fix link arm, parallel arm bracket and closer
body by M5 screws

Rotate the pinion approximately at 100° by
wrench as illustrated and then assemble the
n main arm with pinion by M6 screw tightly

Connect the main arm and link arm as
illustrated

Speed Adjustable

Back check
NO.1 Closing
NO.2 Latching




